Afyon Kocatepe Üniversitesi FEN BİLİMLERİ DERGİSİ 4 (1-2) 119-126

ON THE NON-ISOTROPIC DISTANCE

Hüseyin YILDIRIM

Afyon Kocatepe Üniversitesi, Fen Edebiyat Fakültesi, Matematik Bölümü, AFYON, e-posta: hyildir@aku.edu.tr

ABSTRACT

In this study, we have generated the Gauss-Weierstrass integral and Abel-Poisson integral which are generated by the λ -Abel-Poisson kernel. These kernels depen on non-isotropic distance. We study relationships between Gauss-Weierstrass integral and Abel-Poisson integral with Riesz potential generated by the non-isotropic distance.

Key Words: Non-Isotropic Distance, Weierstrass Kernel, Abel-Poisson Kernel, Riesz Potential.

İZOTROPİK OLMAYAN UZAKLIKLAR ÜZERİNE

ÖZET

Bu çalışmada, λ -Abel Poisson çekirdeği yardımıyla Gauss-Weierstrass integralini ve Abel-Poisson integralini elde ettik. Bu çekirdekler izotropik olmayan uzaklık ile elde edilen Riesz potansiyalleri ile Gauss-Weierstrass integrali ve Abel-Poisson integrali arasındaki ilişkiler çalışıldı.

Anahtar Kelime: İzotropik Olmayan Uzaklık, Weierstrass Çekirdeği, Abel Poisson çekirdeği, Riesz Potansiyeli.

1. INTRODUCTION

The classical Weierstrass kernel, Poisson kernel, Abel Poisson integral and their properties are well known [1]. In the referance [2], relationships between the Riesz Potential generated by the generalized Shift operators and Gauss Weierstrass integrals were proved.

In this article we prove relationships between the Riesz potentials generated by the non-isotropic distance and Weierstrass integral, Abel Poisson integral which are generated by the non-isotropic distance.

Firstly, we give some notations and definitions.

Let

$$\left|x\right|_{\lambda} := \left(\left|x_{1}\right|^{\frac{1}{\lambda_{1}}} + \left|x_{2}\right|^{\frac{1}{\lambda_{2}}} \dots + \left|x_{n}\right|^{\frac{1}{\lambda_{n}}}\right)^{\frac{|\lambda|}{n}}$$

be the non-isotropic λ -distance [3]. Where $\lambda = (\lambda_1, \lambda_2, ..., \lambda_n)$, $\lambda_k > 0$, k = 1, 2, ..., n, $|\lambda| = \lambda_1 + \lambda_2 + ... + \lambda_n$ and $x \in \mathbb{R}^n$.

The λ -Weierstrass kernel was defined as follows [4]:

$$W_{\lambda}(x,t) = c_n t^{-|\lambda|} e^{\frac{|x|^{\frac{n}{|\lambda|}}}{4t}}, t > 0$$

where $c_n = \frac{1}{w_n 2^{2|\lambda|-1} \Gamma(|\lambda|)}, w_n = \int_{S^{n-1}} \Omega(\theta) d\theta.$

The λ -Abel Poisson kernel was defined as follows [4]:

$$P_{\lambda}(x,t) = c_{n}^{*} \frac{t}{(t^{2} + |x|_{\lambda}^{\frac{n}{|\lambda|}})^{|\lambda| + \frac{1}{2}}}, t > 0$$

where
$$c_n^* = \frac{2\Gamma(|\lambda| + \frac{1}{2})}{w_n \Gamma(|\lambda|) \Gamma(\frac{1}{2})}, w_n = \int_{S^{n-1}} \Omega(\theta) d\theta.$$

Passing to spherical coordinates by the following formulas:

AKÜ-Fen Bilimleri Dergisi 4 (1-2)

120

$$y_{1} = (\rho \cos \theta_{1})^{2\lambda_{1}}, ..., y_{n} = (\rho \sin \theta_{1} \sin \theta_{2} ... \sin \theta_{n-1})^{2\lambda_{n}}$$

we obtained that $|x|_{\lambda} = \rho^{\frac{2|\lambda|}{n}}$. It can be seen that the Jacobian $J(\rho, \theta)$ of this transformation is $J(\rho, \theta) = \rho^{\frac{2|\lambda|}{n}} \Omega(\theta)$, where $\Omega(\theta)$ is the bounded function, which depend only on angles $\theta_{1}, \theta_{2}, ..., \theta_{n-1}$.

The Riesz Potentials generated by the non-isotropic λ -distance is defined as follows:

$$(I_{\lambda}^{\alpha}f)(x) = C(\alpha,\lambda) \int_{R^{n}} f(x-y) |y|_{\lambda}^{\alpha-n} dy, \ 0 < \alpha < n$$
(1)

where $C(\alpha, \lambda) = \frac{\Gamma(|\lambda| - \frac{\alpha|\lambda|}{n})2^{1-\frac{\alpha|\lambda|}{n}}}{w_n \Gamma(|\lambda|) \Gamma(\frac{\alpha|\lambda|}{n})}.$

Lemma 1: Let $\lambda = (\lambda_1, \lambda_2, ..., \lambda_n), |\lambda| = \lambda_1 + \lambda_2 + ... + \lambda_n$ and $A(\lambda) = \frac{\lambda_{\max}}{\lambda_{\min}}$ for all $\lambda_k > 0, k = 1, 2, ..., n$, then we have

$$\frac{1}{A(\lambda)} \frac{|\lambda|}{n} \le \lambda_k \le A(\lambda) \frac{|\lambda|}{n}.$$
(2)

Proof: If $\lambda_{\min} = \min{\{\lambda_1, \lambda_2, ..., \lambda_n\}}$ and $\lambda_{\max} = \max{\{\lambda_1, \lambda_2, ..., \lambda_n\}}$. Then, it is clear that

$$n\lambda_{\min} \le |\lambda| \le n\lambda_{\max}.$$
(3)

In this case, there are following inequalies :

$$\lambda_k \ge \lambda_{\min} = \frac{\lambda_{\min}}{\lambda_{\max}} \lambda_{\max} = \frac{1}{A(\lambda)} \lambda_{\max}$$

AKÜ-Fen Bilimleri Dergisi 4 (1-2)

$$=\frac{1}{A(\lambda)}\frac{n\lambda_{\max}}{n} \ge \frac{1}{A(\lambda)}\frac{|\lambda|}{n} \quad (from(3))$$

and

$$\lambda_{k} \leq \lambda_{\max} = \frac{\lambda_{\max}}{\lambda_{\min}} \lambda_{\min} = A(\lambda) \lambda_{\min x}$$
$$= A(\lambda) \frac{n \lambda_{\min}}{n} \leq A(\lambda) \frac{|\lambda|}{n} \quad (from(3))$$

Lemma 2: For all k = 1, 2, ..., n

$$\begin{split} \left|\boldsymbol{y}_{\boldsymbol{k}}\right| \leq \begin{cases} \left|\boldsymbol{y}\right|_{\boldsymbol{\lambda}}^{\boldsymbol{\Lambda}(\boldsymbol{\lambda})} &, \, \textit{if} \, \left|\boldsymbol{y}\right|_{\boldsymbol{\lambda}} \geq 1 \\ \\ \left|\boldsymbol{y}\right|_{\boldsymbol{\lambda}}^{\frac{1}{\boldsymbol{\Lambda}(\boldsymbol{\lambda})}} &, \, \textit{if} \, \left|\boldsymbol{y}\right|_{\boldsymbol{\lambda}} \leq 1 \end{cases} \end{split}$$

Proof: From the non-isotropic λ -distance definition, we have the following inequality;

$$\left|y_{k}\right| = \left(\left|y_{k}\right|^{\frac{1}{\lambda_{k}}}\right)^{\lambda_{k}} \leq \left(\left|y_{1}\right|^{\frac{1}{\lambda_{k}}} + \dots + \left|y_{k}\right|^{\frac{1}{\lambda_{k}}} + \dots + \left|y_{n}\right|^{\frac{1}{\lambda_{n}}}\right)^{\lambda_{k}}$$
(4)

If $|y|_{\lambda} \ge 1$, then $\left(|y_1|^{\frac{1}{\lambda_1}} + ... + |y_n|^{\frac{1}{\lambda_n}} \right) \ge 1$. From Lemma 1 and formula (4) we have

$$\left|y_{k}\right| \leq \left(\left|y_{1}\right|^{\frac{1}{\lambda_{1}}} + \ldots + \left|y_{n}\right|^{\frac{1}{\lambda_{n}}}\right)^{A(\lambda)^{\frac{|\lambda|}{n}}} = \left|y\right|^{A(\lambda)}_{\lambda}.$$

On the other hand, for $|y|_{\lambda} \leq 1$ we have

AKÜ-Fen Bilimleri Dergisi 4 (1-2)

122

$$\left|y_{k}\right| \leq \left(\left|y_{1}\right|^{\frac{1}{\lambda_{1}}} + \ldots + \left|y_{n}\right|^{\frac{1}{\lambda_{n}}}\right)^{\frac{1}{A(\lambda)}\frac{|\lambda|}{n}} = \left|y\right|^{\frac{1}{A(\lambda)}}_{\lambda}.$$

For non-isotropic λ -distance, there is the following equality

$$\left(\left|t^{\lambda_{1}}y_{1}\right|^{\frac{1}{\lambda_{1}}}+\ldots+\left|t^{\lambda_{n}}y_{n}\right|^{\frac{1}{\lambda_{n}}}\right)^{\frac{|\lambda|}{n}}=t^{\frac{|\lambda|}{n}}\left|y\right|_{\lambda},\ t>0.$$

This equality give us that non-isotropic λ -distance is at the order of a homogenous function $\frac{|\lambda|}{n}$. So the non-isotropic λ -distance has following properties.

a.
$$|y|_{\lambda} = 0 \Leftrightarrow y = 0$$

b. $|t^{\lambda}y|_{\lambda} = |t|^{\frac{|\lambda|}{n}}|y|_{\lambda}$
c. $|x + y|_{\lambda} \le 2^{\left(1 + \frac{1}{\lambda_{\min}}\right)^{\frac{|\lambda|}{n}}} \left(|x|_{\lambda} + |y|_{\lambda}\right)$

By $V_t f$ we define the Gauss-Weierstrass integral generated by the non-isotropic λ -distance such that.

$$(V_t f)(x) = \int_{R''} f(y) W_{\lambda}(x - y, t) dy , t > 0.$$
(5)

Furthermore we define Abel-Poisson integral generated by the non-isotropic λ -distance with the following equality.

$$(A_t f)(x) = \int_{R^n} f(y) P_{\lambda}(x - y, t) dy , t > 0.$$
(6)

Theorem 1: There is the following equality for $W_{\lambda}(x,t), t > 0$

AKÜ-Fen Bilimleri Dergisi 4 (1-2)

$$\int_{0}^{\infty} t^{\frac{\alpha|\lambda|}{n}-1} W_{\lambda}(x,t) dt = \frac{2^{1-\frac{\alpha|\lambda|}{n}} \Gamma(|\lambda|-\frac{\alpha|\lambda|}{n})}{w_{n}\Gamma(|\lambda|)} |x|_{\lambda}^{\alpha-n}$$

where $0 < \alpha < n$ and $w_n = \int_{S^{n-1}} \Omega(\theta) d\theta$.

Proof: Proof of Theorem 1 is easy by Gamma function.

Theorem 2: Let $f \in L_p, 1 . Then following equality holds for almost every <math>x \in \mathbb{R}^n$.

$$(I_{\lambda}^{\alpha}f)(x) = \frac{1}{\Gamma(\frac{\alpha|\lambda|}{n})} \int_{0}^{\infty} t^{\frac{\alpha|\lambda|}{n}-1} (V_{i}f)(x)dt$$
(7)

Proof: Firstly we consider the right side of (7) then we have the following equality by Theorem 1 and formula (1).

$$\frac{1}{\Gamma(\frac{\alpha|\lambda|}{n})} \int_{0}^{\infty} t^{\frac{\alpha|\lambda|}{n}-1} (V_{t}f)(x) dt = \frac{1}{\Gamma(\frac{\alpha|\lambda|}{n})} \int_{0}^{\infty} t^{\frac{\alpha|\lambda|}{n}-1} \left\{ \int_{\mathbb{R}^{n}} f(y) W_{\lambda}(x-y,t) dy \right\} dt$$
$$= \frac{1}{\Gamma(\frac{\alpha|\lambda|}{n})} \int_{0}^{\infty} f(x-y) \left\{ \int_{\mathbb{R}^{n}} t^{\frac{\alpha|\lambda|}{n}-1} W_{\lambda}(y,t) dy \right\} dt$$
$$= C(\alpha,\lambda) \int_{\mathbb{R}^{n}} f(x-y) |y|_{\lambda}^{\alpha-n} dy$$
$$= (I_{\lambda}^{\alpha}f)(x).$$

Theorem 3: If $f \in L_p, 1 , then$

AKÜ-Fen Bilimleri Dergisi 4 (1-2)

124

$$(I_{\lambda}^{\alpha}(V_{\lambda}f))(x) = \frac{1}{\Gamma(\frac{\alpha|\lambda|}{n})} \int_{0}^{\infty} t^{\frac{\alpha|\lambda|}{n}-1} (V_{\tau}(V_{\lambda}f))(x) dt.$$

Proof: From the right hand side of the equality (8), we have

$$\frac{1}{\Gamma(\frac{\alpha|\lambda|}{n})} \int_{0}^{\infty} t^{\frac{\alpha|\lambda|}{n}-1} (V_{t}(V_{\lambda}f))(x)dt = \frac{1}{\Gamma(\frac{\alpha|\lambda|}{n})} \int_{0}^{\infty} t^{\frac{\alpha|\lambda|}{n}-1} \left\{ \int_{\mathbb{R}^{n}} (V_{t}f)(y)W_{\lambda}(x-y,t)dy \right\} dt$$
$$= \frac{1}{\Gamma(\frac{\alpha|\lambda|}{n})} \int_{0}^{\infty} (V_{t}f)(x-y) \left\{ \int_{\mathbb{R}^{n}} t^{\frac{\alpha|\lambda|}{n}-1}W_{\lambda}(y,t)dy \right\} dt$$
$$= C(\alpha,\lambda) \int_{\mathbb{R}^{n}} (V_{t}f)(x-y) |y|_{\lambda}^{\alpha-n}dy$$
$$= (I_{\lambda}^{\alpha}(V_{\lambda}f))(x).$$

Theorem 4: For the $P_{\lambda}(x,t)$ -Abel kernel, we have the equality of

$$\int_{0}^{\infty} t^{\frac{2\alpha|\lambda|}{n}-1} P_{\lambda}(x,t) dt = \frac{\Gamma(\frac{\alpha|\lambda|}{n}+\frac{1}{2})\Gamma(|\lambda|-\frac{\alpha|\lambda|}{n})}{w_{n}\Gamma(|\lambda|)\Gamma(\frac{1}{2})} |x|_{\lambda}^{\alpha-n}.$$

Proof: For the proof of this theorem, the following equality will be enough.

$$\int_{0}^{\infty} x^{m-1} (1+x)^{-m-n} dx = \frac{\Gamma(m)\Gamma(n)}{\Gamma(m+n)}, \ m, n > 0.$$

Theorem 5: Let $f \in L_p$, $0 < \alpha < n$. In this case there is the following inequality for almost every $x \in R^n$.

AKÜ-Fen Bilimleri Dergisi 4 (1-2)

AKU-Journal of Science 4 (1-2)

$$(I_{\lambda}^{\alpha}f)(x) = \frac{1}{\Gamma(\frac{2\alpha|\lambda|}{n})} \int_{0}^{\infty} t^{\frac{2\alpha|\lambda|}{n}-1} (A_{t}f)(x) dt.$$

Theorem 6: Let $f \in L_p$, $0 < \alpha < n$ and $1 \le p < \frac{\alpha}{n}$. Then we have

$$(I_{\lambda}^{\alpha}(A_{\lambda}f))(x) = \frac{1}{\Gamma(\frac{2\alpha|\lambda|}{n})} \int_{0}^{\infty} t^{\frac{2\alpha|\lambda|}{n}-1} (A_{t}(A_{\lambda}f))(x) dt.$$

Theorem 5 and Theorem 6 have similar proofs with Theorem 2 and Theorem 3.

ACKNOWLEDGMENT

The Author would like to thank Prof.Dr. Ömer AKIN for helpful discussions and his guidance.

KAYNAKÇA

- 1. Samko S. G., Kilbas A. A. and Marichev O. I., Fractional integrals and Derivatives, (1993).
- 2. Yıldırım H., *Riesz Potentials Generated by the Generalized Shift Operator*. Ankara Uni. Graduate School of Natural and Applieds Sciences Department of Math. Ph.D. Thesis, (1995).
- 3. Fabes E. B and Riviere N. M., Symbolic Calculus of Kernels with Mixed Homogeneity, Proceeding of Symposia in Peru Math., 107-127, (1967).
- Aral A., *The Concergence of Singular Integrals*, Ankara Uni. Graduate School of Natural and Applieds Sciences Department of Math. Ph.D. Thesis, (2001).